
Radical Equations Example 7

Find the solutions to the equation:
−x− 1 =

√
9x− 9

x2 + 2x+ 1 = 9x− 9
Subtracting (9x− 9) from both sides

x2 + 2x+ 1−(9x− 9) = (9x− 9)−(9x− 9)

x2 + (−7)x+ 10 = 0
Warning we need to check our solutions in the original equation.

Check x = 2

LHS = −2− 1

= -3

RHS =
√
9 · 2− 9

= 3

x = 2 is not a solution

Check x = 5

LHS = −5− 1

= -6

RHS =
√
9 · 5− 9

= 6

x = 5 is not a solution

http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Solving_Radicals_Warning_Example.pdf


Radical Equations Example 7

Find the solutions to the equation:
−x− 1 =

√
9x− 9

Squaring both sides

x2 + 2x+ 1 = 9x− 9
Subtracting (9x− 9) from both sides

x2 + 2x+ 1−(9x− 9) = (9x− 9)−(9x− 9)

x2 + (−7)x+ 10 = 0
Warning we need to check our solutions in the original equation.

Check x = 2

LHS = −2− 1

= -3

RHS =
√
9 · 2− 9

= 3

x = 2 is not a solution

Check x = 5

LHS = −5− 1

= -6

RHS =
√
9 · 5− 9

= 6

x = 5 is not a solution

http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Solving_Radicals_Warning_Example.pdf


Radical Equations Example 7

Find the solutions to the equation:
−x− 1 =

√
9x− 9

Squaring both sides

(−x− 1)2 = (
√
9x− 9)2

x2 + 2x+ 1 = 9x− 9
Subtracting (9x− 9) from both sides

x2 + 2x+ 1−(9x− 9) = (9x− 9)−(9x− 9)

x2 + (−7)x+ 10 = 0
Warning we need to check our solutions in the original equation.

Check x = 2

LHS = −2− 1

= -3

RHS =
√
9 · 2− 9

= 3

x = 2 is not a solution

Check x = 5

LHS = −5− 1

= -6

RHS =
√
9 · 5− 9

= 6

x = 5 is not a solution

http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Solving_Radicals_Warning_Example.pdf


Radical Equations Example 7

Find the solutions to the equation:
−x− 1 =

√
9x− 9

Squaring both sides See polynomial squared out

x2 + 2x+ 1 = (−x− 1)2 = (
√
9x− 9)2

x2 + 2x+ 1 = 9x− 9
Subtracting (9x− 9) from both sides

x2 + 2x+ 1−(9x− 9) = (9x− 9)−(9x− 9)

x2 + (−7)x+ 10 = 0
Warning we need to check our solutions in the original equation.

Check x = 2

LHS = −2− 1

= -3

RHS =
√
9 · 2− 9

= 3

x = 2 is not a solution

Check x = 5

LHS = −5− 1

= -6

RHS =
√
9 · 5− 9

= 6

x = 5 is not a solution

http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Example_7/Solving_Radicals_Example_7_Square_Poly.pdf
http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Solving_Radicals_Warning_Example.pdf


Radical Equations Example 7

Find the solutions to the equation:
−x− 1 =

√
9x− 9

Squaring both sides See polynomial squared out

x2 + 2x+ 1 = (−x− 1)2 = (
√
9x− 9)2 = 9x− 9

x2 + 2x+ 1 = 9x− 9
Subtracting (9x− 9) from both sides

x2 + 2x+ 1−(9x− 9) = (9x− 9)−(9x− 9)

x2 + (−7)x+ 10 = 0
Warning we need to check our solutions in the original equation.

Check x = 2

LHS = −2− 1

= -3

RHS =
√
9 · 2− 9

= 3

x = 2 is not a solution

Check x = 5

LHS = −5− 1

= -6

RHS =
√
9 · 5− 9

= 6

x = 5 is not a solution

http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Example_7/Solving_Radicals_Example_7_Square_Poly.pdf
http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Solving_Radicals_Warning_Example.pdf


Radical Equations Example 7

Find the solutions to the equation:
−x− 1 =

√
9x− 9

Squaring both sides See polynomial squared out

x2 + 2x+ 1 = (−x− 1)2 = (
√
9x− 9)2 = 9x− 9

x2 + 2x+ 1 = 9x− 9

Subtracting (9x− 9) from both sides

x2 + 2x+ 1−(9x− 9) = (9x− 9)−(9x− 9)

x2 + (−7)x+ 10 = 0
Warning we need to check our solutions in the original equation.

Check x = 2

LHS = −2− 1

= -3

RHS =
√
9 · 2− 9

= 3

x = 2 is not a solution

Check x = 5

LHS = −5− 1

= -6

RHS =
√
9 · 5− 9

= 6

x = 5 is not a solution

http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Example_7/Solving_Radicals_Example_7_Square_Poly.pdf
http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Solving_Radicals_Warning_Example.pdf


Radical Equations Example 7

Find the solutions to the equation:
−x− 1 =

√
9x− 9

Squaring both sides See polynomial squared out

x2 + 2x+ 1 = (−x− 1)2 = (
√
9x− 9)2 = 9x− 9

x2 + 2x+ 1 = 9x− 9
Subtracting (9x− 9) from both sides

x2 + 2x+ 1−(9x− 9) = (9x− 9)−(9x− 9)

x2 + (−7)x+ 10 = 0
Warning we need to check our solutions in the original equation.

Check x = 2

LHS = −2− 1

= -3

RHS =
√
9 · 2− 9

= 3

x = 2 is not a solution

Check x = 5

LHS = −5− 1

= -6

RHS =
√
9 · 5− 9

= 6

x = 5 is not a solution

http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Example_7/Solving_Radicals_Example_7_Square_Poly.pdf
http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Solving_Radicals_Warning_Example.pdf


Radical Equations Example 7

Find the solutions to the equation:
−x− 1 =

√
9x− 9

Squaring both sides See polynomial squared out

x2 + 2x+ 1 = (−x− 1)2 = (
√
9x− 9)2 = 9x− 9

x2 + 2x+ 1 = 9x− 9
Subtracting (9x− 9) from both sides

x2 + 2x+ 1−(9x− 9) = (9x− 9)−(9x− 9)

x2 + (−7)x+ 10 = 0
Warning we need to check our solutions in the original equation.

Check x = 2

LHS = −2− 1

= -3

RHS =
√
9 · 2− 9

= 3

x = 2 is not a solution

Check x = 5

LHS = −5− 1

= -6

RHS =
√
9 · 5− 9

= 6

x = 5 is not a solution

http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Example_7/Solving_Radicals_Example_7_Square_Poly.pdf
http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Solving_Radicals_Warning_Example.pdf


Radical Equations Example 7

Find the solutions to the equation:
−x− 1 =

√
9x− 9

Squaring both sides See polynomial squared out

x2 + 2x+ 1 = (−x− 1)2 = (
√
9x− 9)2 = 9x− 9

x2 + 2x+ 1 = 9x− 9
Subtracting (9x− 9) from both sides

x2 + 2x+ 1−(9x− 9) = (9x− 9)−(9x− 9)

x2 + (−7)x+ 10 = 0

Warning we need to check our solutions in the original equation.

Check x = 2

LHS = −2− 1

= -3

RHS =
√
9 · 2− 9

= 3

x = 2 is not a solution

Check x = 5

LHS = −5− 1

= -6

RHS =
√
9 · 5− 9

= 6

x = 5 is not a solution

http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Example_7/Solving_Radicals_Example_7_Square_Poly.pdf
http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Solving_Radicals_Warning_Example.pdf


Radical Equations Example 7

Find the solutions to the equation:
−x− 1 =

√
9x− 9

Squaring both sides See polynomial squared out

x2 + 2x+ 1 = (−x− 1)2 = (
√
9x− 9)2 = 9x− 9

x2 + 2x+ 1 = 9x− 9
Subtracting (9x− 9) from both sides

x2 + 2x+ 1−(9x− 9) = (9x− 9)−(9x− 9)

x2 + (−7)x+ 10 = 0
Factoring or Using the Quadratic Formula , we find solutions

Warning we need to check our solutions in the original equation.

Check x = 2

LHS = −2− 1

= -3

RHS =
√
9 · 2− 9

= 3

x = 2 is not a solution

Check x = 5

LHS = −5− 1

= -6

RHS =
√
9 · 5− 9

= 6

x = 5 is not a solution

http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Example_7/Solving_Radicals_Example_7_Square_Poly.pdf
http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Example_7/Solving_Radicals_Example_7_Factor.pdf
http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Example_7/Solving_Radicals_Example_7_Quad_Form.pdf
http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Solving_Radicals_Warning_Example.pdf


Radical Equations Example 7

Find the solutions to the equation:
−x− 1 =

√
9x− 9

Squaring both sides See polynomial squared out

x2 + 2x+ 1 = (−x− 1)2 = (
√
9x− 9)2 = 9x− 9

x2 + 2x+ 1 = 9x− 9
Subtracting (9x− 9) from both sides

x2 + 2x+ 1−(9x− 9) = (9x− 9)−(9x− 9)

x2 + (−7)x+ 10 = 0
Factoring or Using the Quadratic Formula , we find solutions x = 2, 5

Warning we need to check our solutions in the original equation.
Check x = 2

LHS = −2− 1

= -3

RHS =
√
9 · 2− 9

= 3

x = 2 is not a solution

Check x = 5

LHS = −5− 1

= -6

RHS =
√
9 · 5− 9

= 6

x = 5 is not a solution

http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Example_7/Solving_Radicals_Example_7_Square_Poly.pdf
http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Example_7/Solving_Radicals_Example_7_Factor.pdf
http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Example_7/Solving_Radicals_Example_7_Quad_Form.pdf
http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Solving_Radicals_Warning_Example.pdf


Radical Equations Example 7

Find the solutions to the equation:
−x− 1 =

√
9x− 9

Squaring both sides See polynomial squared out

x2 + 2x+ 1 = (−x− 1)2 = (
√
9x− 9)2 = 9x− 9

x2 + 2x+ 1 = 9x− 9
Subtracting (9x− 9) from both sides

x2 + 2x+ 1−(9x− 9) = (9x− 9)−(9x− 9)

x2 + (−7)x+ 10 = 0
Factoring or Using the Quadratic Formula , we find solutions x = 2, 5
Warning we need to check our solutions in the original equation.

Check x = 2

LHS = −2− 1

= -3

RHS =
√
9 · 2− 9

= 3

x = 2 is not a solution

Check x = 5

LHS = −5− 1

= -6

RHS =
√
9 · 5− 9

= 6

x = 5 is not a solution

http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Example_7/Solving_Radicals_Example_7_Square_Poly.pdf
http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Example_7/Solving_Radicals_Example_7_Factor.pdf
http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Example_7/Solving_Radicals_Example_7_Quad_Form.pdf
http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Solving_Radicals_Warning_Example.pdf


Radical Equations Example 7

Find the solutions to the equation:
−x− 1 =

√
9x− 9

Squaring both sides See polynomial squared out

x2 + 2x+ 1 = (−x− 1)2 = (
√
9x− 9)2 = 9x− 9

x2 + 2x+ 1 = 9x− 9
Subtracting (9x− 9) from both sides

x2 + 2x+ 1−(9x− 9) = (9x− 9)−(9x− 9)

x2 + (−7)x+ 10 = 0
Factoring or Using the Quadratic Formula , we find solutions x = 2, 5
Warning we need to check our solutions in the original equation.

Check x = 2

LHS = −2− 1

= -3

RHS =
√
9 · 2− 9

= 3

x = 2 is not a solution

Check x = 5

LHS = −5− 1

= -6

RHS =
√
9 · 5− 9

= 6

x = 5 is not a solution

http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Example_7/Solving_Radicals_Example_7_Square_Poly.pdf
http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Example_7/Solving_Radicals_Example_7_Factor.pdf
http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Example_7/Solving_Radicals_Example_7_Quad_Form.pdf
http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Solving_Radicals_Warning_Example.pdf


Radical Equations Example 7

Find the solutions to the equation:
−x− 1 =

√
9x− 9

Squaring both sides See polynomial squared out

x2 + 2x+ 1 = (−x− 1)2 = (
√
9x− 9)2 = 9x− 9

x2 + 2x+ 1 = 9x− 9
Subtracting (9x− 9) from both sides

x2 + 2x+ 1−(9x− 9) = (9x− 9)−(9x− 9)

x2 + (−7)x+ 10 = 0
Factoring or Using the Quadratic Formula , we find solutions x = 2, 5
Warning we need to check our solutions in the original equation.

Check x = 2

LHS = −2− 1

= -3

RHS =
√
9 · 2− 9

= 3

x = 2 is not a solution

Check x = 5

LHS = −5− 1

= -6

RHS =
√
9 · 5− 9

= 6

x = 5 is not a solution

http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Example_7/Solving_Radicals_Example_7_Square_Poly.pdf
http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Example_7/Solving_Radicals_Example_7_Factor.pdf
http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Example_7/Solving_Radicals_Example_7_Quad_Form.pdf
http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Solving_Radicals_Warning_Example.pdf


Radical Equations Example 7

Find the solutions to the equation:
−x− 1 =

√
9x− 9

Squaring both sides See polynomial squared out

x2 + 2x+ 1 = (−x− 1)2 = (
√
9x− 9)2 = 9x− 9

x2 + 2x+ 1 = 9x− 9
Subtracting (9x− 9) from both sides

x2 + 2x+ 1−(9x− 9) = (9x− 9)−(9x− 9)

x2 + (−7)x+ 10 = 0
Factoring or Using the Quadratic Formula , we find solutions x = 2, 5
Warning we need to check our solutions in the original equation.

Check x = 2

LHS = −2− 1

= -3

RHS =
√
9 · 2− 9

= 3

x = 2 is not a solution

Check x = 5

LHS = −5− 1

= -6

RHS =
√
9 · 5− 9

= 6

x = 5 is not a solution

http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Example_7/Solving_Radicals_Example_7_Square_Poly.pdf
http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Example_7/Solving_Radicals_Example_7_Factor.pdf
http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Example_7/Solving_Radicals_Example_7_Quad_Form.pdf
http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Solving_Radicals_Warning_Example.pdf


Radical Equations Example 7

Find the solutions to the equation:
−x− 1 =

√
9x− 9

Squaring both sides See polynomial squared out

x2 + 2x+ 1 = (−x− 1)2 = (
√
9x− 9)2 = 9x− 9

x2 + 2x+ 1 = 9x− 9
Subtracting (9x− 9) from both sides

x2 + 2x+ 1−(9x− 9) = (9x− 9)−(9x− 9)

x2 + (−7)x+ 10 = 0
Factoring or Using the Quadratic Formula , we find solutions x = 2, 5
Warning we need to check our solutions in the original equation.

Check x = 2

LHS = −2− 1

= -3

RHS =
√
9 · 2− 9

= 3

x = 2 is not a solution

Check x = 5

LHS = −5− 1

= -6

RHS =
√
9 · 5− 9

= 6

x = 5 is not a solution

http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Example_7/Solving_Radicals_Example_7_Square_Poly.pdf
http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Example_7/Solving_Radicals_Example_7_Factor.pdf
http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Example_7/Solving_Radicals_Example_7_Quad_Form.pdf
http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Solving_Radicals_Warning_Example.pdf


Radical Equations Example 7

Find the solutions to the equation:
−x− 1 =

√
9x− 9

Squaring both sides See polynomial squared out

x2 + 2x+ 1 = (−x− 1)2 = (
√
9x− 9)2 = 9x− 9

x2 + 2x+ 1 = 9x− 9
Subtracting (9x− 9) from both sides

x2 + 2x+ 1−(9x− 9) = (9x− 9)−(9x− 9)

x2 + (−7)x+ 10 = 0
Factoring or Using the Quadratic Formula , we find solutions x = 2, 5
Warning we need to check our solutions in the original equation.

Check x = 2

LHS = −2− 1

= -3

RHS =
√
9 · 2− 9

= 3

x = 2 is not a solution

Check x = 5

LHS = −5− 1

= -6

RHS =
√
9 · 5− 9

= 6

x = 5 is not a solution

http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Example_7/Solving_Radicals_Example_7_Square_Poly.pdf
http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Example_7/Solving_Radicals_Example_7_Factor.pdf
http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Example_7/Solving_Radicals_Example_7_Quad_Form.pdf
http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Solving_Radicals_Warning_Example.pdf


Radical Equations Example 7

Find the solutions to the equation:
−x− 1 =

√
9x− 9

Squaring both sides See polynomial squared out

x2 + 2x+ 1 = (−x− 1)2 = (
√
9x− 9)2 = 9x− 9

x2 + 2x+ 1 = 9x− 9
Subtracting (9x− 9) from both sides

x2 + 2x+ 1−(9x− 9) = (9x− 9)−(9x− 9)

x2 + (−7)x+ 10 = 0
Factoring or Using the Quadratic Formula , we find solutions x = 2, 5
Warning we need to check our solutions in the original equation.

Check x = 2

LHS = −2− 1

= -3

RHS =
√
9 · 2− 9

= 3

x = 2 is not a solution

Check x = 5

LHS = −5− 1

= -6

RHS =
√
9 · 5− 9

= 6

x = 5 is not a solution

http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Example_7/Solving_Radicals_Example_7_Square_Poly.pdf
http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Example_7/Solving_Radicals_Example_7_Factor.pdf
http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Example_7/Solving_Radicals_Example_7_Quad_Form.pdf
http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Solving_Radicals_Warning_Example.pdf


Radical Equations Example 7

Find the solutions to the equation:
−x− 1 =

√
9x− 9

Squaring both sides See polynomial squared out

x2 + 2x+ 1 = (−x− 1)2 = (
√
9x− 9)2 = 9x− 9

x2 + 2x+ 1 = 9x− 9
Subtracting (9x− 9) from both sides

x2 + 2x+ 1−(9x− 9) = (9x− 9)−(9x− 9)

x2 + (−7)x+ 10 = 0
Factoring or Using the Quadratic Formula , we find solutions x = 2, 5
Warning we need to check our solutions in the original equation.

Check x = 2

LHS = −2− 1

= -3

RHS =
√
9 · 2− 9

= 3

x = 2 is not a solution

Check x = 5

LHS = −5− 1

= -6

RHS =
√
9 · 5− 9

= 6

x = 5 is not a solution

http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Example_7/Solving_Radicals_Example_7_Square_Poly.pdf
http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Example_7/Solving_Radicals_Example_7_Factor.pdf
http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Example_7/Solving_Radicals_Example_7_Quad_Form.pdf
http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Solving_Radicals_Warning_Example.pdf


Radical Equations Example 7

Find the solutions to the equation:
−x− 1 =

√
9x− 9

Squaring both sides See polynomial squared out

x2 + 2x+ 1 = (−x− 1)2 = (
√
9x− 9)2 = 9x− 9

x2 + 2x+ 1 = 9x− 9
Subtracting (9x− 9) from both sides

x2 + 2x+ 1−(9x− 9) = (9x− 9)−(9x− 9)

x2 + (−7)x+ 10 = 0
Factoring or Using the Quadratic Formula , we find solutions x = 2, 5
Warning we need to check our solutions in the original equation.

Check x = 2

LHS = −2− 1

= -3

RHS =
√
9 · 2− 9

= 3

x = 2 is not a solution

Check x = 5

LHS = −5− 1

= -6

RHS =
√
9 · 5− 9

= 6

x = 5 is not a solution

http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Example_7/Solving_Radicals_Example_7_Square_Poly.pdf
http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Example_7/Solving_Radicals_Example_7_Factor.pdf
http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Example_7/Solving_Radicals_Example_7_Quad_Form.pdf
http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Solving_Radicals_Warning_Example.pdf


Radical Equations Example 7

Find the solutions to the equation:
−x− 1 =

√
9x− 9

Squaring both sides See polynomial squared out

x2 + 2x+ 1 = (−x− 1)2 = (
√
9x− 9)2 = 9x− 9

x2 + 2x+ 1 = 9x− 9
Subtracting (9x− 9) from both sides

x2 + 2x+ 1−(9x− 9) = (9x− 9)−(9x− 9)

x2 + (−7)x+ 10 = 0
Factoring or Using the Quadratic Formula , we find solutions x = 2, 5
Warning we need to check our solutions in the original equation.

Check x = 2

LHS = −2− 1

= -3

RHS =
√
9 · 2− 9

= 3

x = 2 is not a solution

Check x = 5

LHS = −5− 1

= -6

RHS =
√
9 · 5− 9

= 6

x = 5 is not a solution

http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Example_7/Solving_Radicals_Example_7_Square_Poly.pdf
http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Example_7/Solving_Radicals_Example_7_Factor.pdf
http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Example_7/Solving_Radicals_Example_7_Quad_Form.pdf
http://www.coobermath.com/Radical_Functions/Solving_Square_Root_Equations/Solving_Radicals_Warning_Example.pdf
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Find the solutions to the equation:
−x− 1 =

√
9x− 9

Squaring both sides See polynomial squared out

x2 + 2x+ 1 = (−x− 1)2 = (
√
9x− 9)2 = 9x− 9

x2 + 2x+ 1 = 9x− 9
Subtracting (9x− 9) from both sides

x2 + 2x+ 1−(9x− 9) = (9x− 9)−(9x− 9)

x2 + (−7)x+ 10 = 0
Factoring or Using the Quadratic Formula , we find solutions x = 2, 5
Warning we need to check our solutions in the original equation.

Check x = 2

LHS = −2− 1

= -3

RHS =
√
9 · 2− 9

= 3

x = 2 is not a solution

Check x = 5
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